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Where it did not produce — PR K97 N7

OVERVIEW

"X stated that if there were thirty trees planted in three 7X0 n°2 (ten trees to a N"2
7X0) and each year he ate the fruits of (only) ten different trees (spread throughout
the three 7X0 n°2) it is a AP™. This ruling is qualified (even) further, that it is a 7P
only if (each year) the remaining twenty trees do not bear fruit. Md0IN explains
how it is possible that each year only ten of the thirty trees bear fruit.

— DY /) INVIPY 1Y IVINIY NYYNY MY 1,2 13 INIIN 1339 W9
The n"9 explained that this scenario” can take place for instance by mw nus,
where it takes three years from the time the fruit of these trees blossom until

they are picked off the tree -
— NVNIY HY 72 NIYA VI N2IY NIV JADY NPV MY NN x mwn 7n pas maw) JINT

As the mwn teaches, the nsysaw 211 of mw ni2 is the second year, meaning the

fruits which are picked in the second year of 77wS»® have a 17 of Pyaw -
— *ryrav 1272 PINION) mpyawa 1INy NVINIVY HY 72 Niva DOVPLIY M JNINY 29Y

Since those fruits that were picked in the second year of fu»w blossomed on
newsaw, so they are 910K as the laws of NIy 2w prescribe.

Mmoo explains why it was necessary for the 1" to establish this case specifically by mw n1a:
— DT YINY RY DY GINI MITIN INVAT NIY 1922 INIIN 19929 INPIN 799

And the reason the 11''9 established this ruling of »ax by mw n113, is because by

other trees this scenario will not happen even once in a thousand years, meaning -
— %5172 9129 97 MIWA 1795 KY 1% NIWA YP9OW IMNY ©IY /) POTYA 199> INIYIN *r9ad

! See ®,7 1"y which states; XNX7717 °1°RN 73771 727 IR 737 92 72 727 R Mw 1112 — white figs.

% See ‘Overview’.

3 Regarding the laws of 7unw by trees we follow the nvim; if the 70N was on nN°¥"aw, those fruits have a nvyaw 177,

regardless when they are harvested. Similarly if the 7011 was before n°y°aw and they were harvested on n°y"aw, they

are not considered n°¥°aw n1°s.

* It is evident that the 7vPY (in '27 7W) is in the third year after the qvin (on n°y°aw). Therefore in our situation ten

trees had vin two years before the 1P (and were harvested on the first year of the 1), ten trees had nvi7 one year

before the np1 (and were harvested on the second year of the 7, and ten trees had 7vin on the first year of the

7117 (and were harvested on the third year of the 7p117). See “Thinking it over’ # 1.

3 Others amend this to read ">7 (not '927).

% To review, »aX requires that he harvests only ten trees a year and that they are spread evenly over three 0" and

the remaining twenty trees (each year) are not producing fruit. If they are not producing fruit because of a plague or

disease, how is it that only some trees are affected and others which are close to them are not affected, and the trees

that were affected for two of the three years are not affected on the third year. This is an extremely unlikely
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That (regarding) thirty trees (they) will be plagued by blight for three years
and those (twenty trees) that are affected this year will not be affected the

other year, and the ten trees that are not affected each year are spread out evenly
over the three 0"2.

nvoIn asks:
— MY N3 99910 8 Y291 9IND ON)

And if you will say; but how can we be discussing mw nus -

— NP9 INNY NIPY KD IRNY AIPRT NITIPAT 1983 DPIN 233 H19090N "1Pp%9 wrva N
For in the beginning of our P22, the X ) stated regarding npn, there is a
requirement that at the time this X9°2 is present (for phase one of the 1p117), the

other fruit (of the next phase) is not present (however if it is present, it is not a 7pm, for

then it is all considered as one phase) -
— %73 ;3w 799 710303 935 MIYI NNYRA NIY M9 YINY KON

So here when he ate the fruits of the first and second year, the n19°» of the

third year blossomed already; so it is a case of 5 *x1% ’n°X7 RX17°¥2 (of the first and
second years) *7°0 °Ki7? XX (of the third year), so how can it be a valid 1pn?!

N1B0IN answers:
—MnhY 900 1Y PIY U 13TV 1159 9295 Y

And one can say since there still remains a year until they ripen (so even though
they already blossomed), nevertheless -

INY9 INNY NIPY NI INNYD NININT NITIYA 999V M
It can properly be considered that X7°0 >R RnvH X950 SRD 79NIRT RITOWI, since it
is so far removed from being ready to be harvested.

SUMMARY
The ruling of »aX is by mw mi2. If there remains a year to harvest it is considered
as if the "0 is not here even though it already blossomed.

occurrence. However by mw ni13, it is a natural phenomenon.
Tam>.
¥ This explained why there can be no 711 if he harvested three 0°IXn in [one day] (three days) because all the three
o°1Xkn are present (even though only one of them is ripe to harvest). See ‘Thinking it over’ # 2.
? See footnote # 4.
' Seemingly the question would be on the first year as well, that when he is eating the M7’ of the first year there
was already the 7117 for the n17°9 of the second year.
" This is in contrast to the 2°3Xn which are grown and will ripen shortly. See footnote # 8.
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THINKING IT OVER

1. According to the 11", the 7211 of MW N2 (whose NM7%0 are harvested three years
after the 70an) is in three years.'> Previously'® mooin taught us that we require three
years of a complete harvest each year (including the planting and harvesting).
Similarly here the 7P should consist of a complete cycle beginning with the 7win
(in year one) and ending with the third harvest (in year five); why are three years
sufficient, when it should seemingly be five years (the first two years only have the
1ohtn) VAR

2. mpoIn asks how can there be a 7P by mw N2 when there is the requirement of
D ORI RN PD ORAY RMRT XITYA.” Seemingly however this rule is only
according to YRynw° " who derives 7pm from 79117 W; however »aR is discussing
the view of the 7127, who do not derive 7P from 7vn7 MW and therefore there may
be no rule of ™1’ >R RA*H >0 XiTh RAPRT Ka7ya!'

12 See footnote # 4.
3 axn 77 2,75 (TIE footnote # 3).
4 See n"m.
15 See footnote # 8.
1 See (mym) x7 MK >">2 and n"na.
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